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This is a closed book exam.

The test package includes a test paper (this document), a formula sheet, and an OMR sheet.
The test paper consists of & pages. It is the responsibility of the student to check that the
test paper is complete.

Only Hewlett-Packard HP 10s or HP 30s or Texas Instruments TI-30X series calculators may
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Enter your name and student number on the cover of the test paper and check the appropriate
box for your lecture section. Also enter your student number in the top right-hand corner of
each page of the test paper.

5. Enter your name and STUDENT NUMBER on the OMR sheet.

The test paper, the formula sheet and the OMR sheet must all be submitted.

7. The marked test paper will be returned. The formula sheet and the OMR sheet will NOT be

returned.

ONLY THE THREE PART B QUESTIONS THAT YOU INDICATE WILL BE MARKED

PLEASE INDICATE WHICH THREE PART B QUESTIONS ARE TO BE MARKED
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NUMBER MARKED MARKS OBTAINED
AL-15 - 15
Bl ] 10
B2 u] 10
B3 Q 10
B4 a 10
TOTAL 45
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PART A

FOR EACH OF THE FOLLOWING QUESTIONS IN PART A, ENTER THE MOST
APPROPRIATE RESPONSE ON THE OMR SHEET.

D

Al,

A3.

Ad.,

AS.

A6,

A typical influenza (HIN1) virus has a diameter of approximately 80 pm, when viewed in an
electron microscope. Express this in scientific notation, in metres, to 2 significant figures.

(A)800%10*m (B)8.00x10°m (C)80x10°m (0)80x10°m (E)80x10°m
fOum = B0x1074m = .0x 10" 5m
The mathematical relationship between three physical quantities is given by a = b* / c. If the
dimension of b is [L]/[T] and the dimension of ¢ is [L], which one of the following choices is
the dimension of a?
(L] (L)

(L]
A) [L B) — Cy=== T
) (L) ® o © oy (D) [T] ®

2 2 2
0= % [a]-= m/[c.] . /I E{F—] = [Ll/ (1?

A physics student in a hot air balloon ascends vertically. Consider the following four forces that
arise in this situation:

F1 = the weight of the hot air balloon = -?Dfa_ of eocth Iouflr}\s on student
F2 = the weight of the student i

F3 = the force of the student pulling on the earth

F4 = the force of the hot air balloon pulling on the student

Which two forces form an "interaction pair” that obeys Newton's third law?

(A) Fl and F2 F2 and F3 (C) Fl and F3
(D) F2 and F4 (E) F3 and F4

A 2.0-kg object moves in a straight line on a horizontal frictionless surface. The graph shows the
velocity of the object as a function of time. The various equal time intervals are labeled I, I1, III,
IV, and V. The net force on the object always acts along the line of motion of the object.

Which section(s) of the graph correspond to a condition of zero net force?

(A) V only SE=0 = a=0
(B) I only
© mand v = — - o
(D) IL, I, and IV i ! ! x=0 3y ¥
(E) LI, and V z | i tanstomd

3 [ | .

2 | ; : | U Gonstond =>

| I
‘ ' lI | rest is

v v |

Time (s) l‘\Or‘ zﬂ&ﬂi .

Jupiter has 320 times the mass of the earth and a radius 11 times greater than that of the earth.
Calculate the magnitude of the gravitational field strength at the surface of Jupiter, compared to
that at the surface of the earth, gg.

121 320 11 121 320
Ay 24 i L 20
@ 350% - B e O g (Dé 160‘?; ® 5 o
= 37 - GM’__.._/ Q;— z E Z_ —.J i —'- Z. 320 = —
‘3 R? /95 " GMg /Rf 23) Mg ~ (H) 121

Which one of the following statements is correct concerning a situation where the net force on an
object is not zero.
M = e
(A) The object must have an increasing speed. SE#0=> a¥#¥0
(B) The object must have a decreasing speed. % |
The object must be moving in a straight line. =7 y (S nst cons
The object must have a velocity that is not constant.
(E) The object’s acceleration must be zero.

continued on page 3...
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AT7.

AS.

AS.

AlO.

All.

John and Mary leave their apartment to go to school. John walks 3 ki west and then turns and

walks 4 km north. Mary walks a distance of 5 km in a direction of 53° north of west directly

across an open field. Both John and Mary arrive at school at the same time. Which one of the
following statements is correct concerning John's and Mary’s average speeds and average dicdosize

velocities during their walks? aut spu.nl = v
me
(A) Their average speeds are the same, their average velocities are not.
Their average velocities are the same, their average speeds are not. o W Jocid /
(C) Both their average speeds and their average velocities are the same. ~" = | woplack e
(D) Neither their average speeds nor their average velocities are the same. 3 S 41-—-**'
e

(E) The question cannot be answered without additional information.
hraes ore e,riua.’, ch‘rpiw.crnm oce e,clucxﬂ , “John's dastomes
1T greader Hhom Mory's dustorace.
A ball is thrown vertically upward. Eventually it returns to the point from which it was thrown.
Which one of the following velocity versus time graphs is correct for the motion of the ball while
itis in free fall? (Up has been chosen as the positive direction and air resistance is negligible.)

@v (B)? © v

(DJU v U VS -& s l,_n__e;*g,r ‘afc

t
N
62
/ a 1S constomd foc

U stetr o P“‘"""‘_"; dlecreases
lo 0 (at top of Frajectry) and Thew

Vs -inc,ral.sinﬁ}-f recobive a5 tae hatl noues

. . ) a5 e ow ar downword .
If a car is travelling eastward and slowing down, which one of the following statements correctly

describes the car’s motion?
acceferoon 16 oppesi le} y directed
Corﬂfg ared ) ‘.."('jbv' +Y L westacd .

(A) The car has a constant speed.
(B) The car has a constant velocity.
(C) The car’s acceleration is directed eastward.

The car’s acceleration is directed westward.
(E) The car’s velocity is directed westward.

Two identical balls are thrown horizontally from the roof of a building at the same time. Ignoring
air resistance, if the initial velocity of ball 1 is twice the initial velocity of ball 2, which one of

the following statements is true? verbcal auamdhes oce #he same ;
(A) Ball 1 reaches the ground first. - : liabd ore dal.
(B) Ball 2 reaches the ground first. o hives of £ ‘9 e‘l

C) Both balls reach the ground at the same time and with the same final velocity.
Both balls reach the ground at the same time but ball 1 has a greater final speed.
(E) Both balls reach the ground at the same time but ball 2 has a greater final speed.

An object moving in a circle at a constant speed has an acceleration that is

(A) in the direction of motion. (B) toward the centre of the circle.
(C) away from the centre of the circle. (D) opposite to the direction of motion.
(E) zero.

continued on page 4...
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Al2. Anobject is initially moving in uniform circular motion with angular speed ©; and rz_iclius_n.
Both the angular speed and the radius are then doubled, and the object is once again in uniform
circular motion. Which one of the following expressions for the new radial acceleration is true?

(A) 2ra (B) 4ra © sra* O 4naf ® ['ai;]”z
a2 . 2 z
Q= %__ ra? 5 & ne’ s (20, X2y = I dw?= 8w,

Al3. The following is a free body diagram of an object which undergoes a displacement of magnitude
Ar along the horizontal direction. Which one of the following equations represents the fotal

work done on the object? - =2
) N amd W do no \rJa-cL(

ble L o dusplacement
W, = Tcosd Ar
We = £ Ar cosi80'=—F AT

(A) (Tsin@)Ar (B) (Tcos§)Ar
(C) (Tcos@-Tsin@)Ar ®) (Tcoso- f)ar

® (sind - f)ar W = (Teos= £, ) &ir

Al4. Aball on the end of string is being swung in a vertical circle at constant speed. Where inthe
ball’s trajectory is the tension in the string greatest in magnitude?

-

C (A) The tension in the string is constant throughout the ball’s motion. A ek W
(B) The tension in the string is greatest at the highest point of the ball's motion. \w >
The tension in the string is greatest at the lowest point of the ball’s motion. W

(D) The tension in the string is greatest when the string is horizontal and the ball is moving up.
(E) The tension in the string is greatest when the string is horizontal and the ball is moving

down.  $7¢ - ma, of bottom To\ = roUf
fF = M'J“z U-.;
r v _ --l' - M /F + W

(%
Al5. A projectile is launched at an angle & above the horizontal. Ignoring air resistance, what fraction
of its initial kinetic energy does the projectile have at the top of its trajectory?

D (A) cos 6 (B) sin §_ (C) tan 6 ®) cos* 0 (E) sin® 6
_GE LG —— _‘trf |<L = Jz'm‘-riz /_ f\O"Q %\d‘ U‘,‘: = U-t'x
JG = R k = i mu_z = U;COS&
] £7 279 5 Lgikes?
PART B 2% s Ke

ANSWER THREE OF THE PART B QUESTIONS ON THE FOLLOWING PAGES AND INDICATE YOUR |, = cos*®
CHOICES ON THE COVER PAGE. ¢

FOR EACH OF YOUR CHOSEN PART B QUESTIONS ON THE FOLLOWING PAGES, GIVE THE COMPLETE
SOLUTION AND ENTER THE FINAL ANSWER IN THE BOX PROVIDED.

THE ANSWERS MUST CONTAIN THREE SIGNIFICANT FIGURES AND THE UNITS MUST BE GIVEN.
SHOW AND EXPLAIN YOUR WORK — NO CREDIT WILL BE GIVEN FOR ANSWERS ONLY.

EQUATIONS NOT PROVIDED ON THE FORMULAE SHEET MUST BE DERIVED.
USE THE BACK OF THE PREVIOUS PAGE FOR YOUR ROUGH WORK.

continued on page 5...
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2b2
Bl. A 255-N force is directed horizontally as shown to push a 29.1-kg box up a ramp at a constant
speed. There is frichon betueen the box amd the canp.

(a) On the diagram above, draw all the forces acting on the box and show your choice of
coordinate system. (Air resistance can be ignored.) (3 marks)

(b) Calculate the magnitude of the normal force of the ramp on the box. (4 marks)
bow is m&u;nj ot  constont qu_f_d n &
stcargid lne 5o 2 =0. 373N
ZE =0 s er-' 0 ond Z’F;/ i

ZFy—_O = Ny+wy+Py+-pky':O
"'M—\N‘Corg' Psin@*o =9
N = P Sllr\g + \.AJCDS‘Q

N = 262N sin(27.2°) + (29.1 kg X(9 80m/s?) o5 (<727

(c) Calculate the coefficient of kinetic friction between the ramp and the box. (3 marks)

£ - uN =5 - .pu
“ Sl 0. 274
fom TH=0, Potuw + P +Ny =0
+ PeosB — W =, + 0 =0
-Fu'.: P(_O,Q "'\J\.]Sr\l\g
£ = 22N o5 (2727 - (29.1 LgX9.Fom/s) s (272°)
= N
£, = 103
2y N 373N @

continued on page 6...
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B2. A small log is floating on a fast-moving river. A child standing on a bridge over the river drops a
stone so that it hits the front of the log as the log passes under the bridge. The log is moving with a
constant speed of 5.00 m/s and the stone is dropped from rest from a height of 75.0 m above the
log.

(a) Calculate the speed of the stone just before it hits the log. (3 marks)

4
L"‘ % 383"\/;

D?Q by G} For Hee  stoes
Axg Ve A\/S = - f50m
2
Hawe U.'Fzs -U;-; = 2&2;5‘;/_-: As= - q.80m/s

Up, = /20 4ys = ,\/:(" 9.00m/s? |- 75.0m)

Up, =-38.3m/s ) (speed 16 +ue)

(b) Calculate the elapsed time from the stone’s release until it hits the log. (4 marks)

Can vse ecther Up = Ups = asbt

- 2.9ls
oc  bye= U At + Eas@{’f———ﬁ
e Vi bys= O+ afot)
Ta;
’ 2_{515 - M
AF = -3%. 3en/s Qs
= G,80 m/s?

_ [a(-75.0m) -
st = (33915) S ok

(c) Calculate the horizontal distance of the log from the bridge when the child releases the stone.

(3 marks)
The luj st cover Hhe dustance 9L
AI}: in He hme at Laﬂc,ulwki o™
in (b) Since Hie |oj has constand V‘JOU"V,

Axy = (5.00m)s Y 315)

continued on page 7...
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B3. Europa travels around Jupiter in an orbit of radius 6.71 x 10° m with a period of 3.55 days.
(a) Calculate the angular speed of Europa in its orbit. Express your answer in rad/day and rad/s.
(& marks)
2 " "
w80 Frcd  Ircod |77 codfduy]
At T 3.554d =
2.05% 16 cad
| day [ h
— Pl
24 36005

-9
|w= 2,05)(’0 rD“-"/s

3
(b) Calculate the distance (arclength) that Europa travels in 1.00 day. (R marks)
r

s=rhbd
%6

L9 x IO"M
amd A8 = wAt

S % rw At

s = (4.FIx10% Y .77 m{/dd_/Y .60 day)
: 9
S= [ I9xI0

™

(c) Given that the gravitational force of Jupiter on Europa keeps Europa in its circular orbit,
calculate the mass of Jupiter. (5 marks)

Neuwdow U foe

1,90 x 16%% kg
crcewlor rmoh'an 2
a: L - rw®
fpr'- MO ‘ r i
= 2
Ejrw X IR
CIY . ptews?
{-2
M=

3 2
et (6. 71x10%)(2.05% 16 redf)
G

bL.b74H xio"'N-mz/luf

continued on page 8
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B4. A car of mass 1250 kg is moving at a speed of 50.0 km/h at a height of 5.00 m above the bottom of
a hill, when it runs out of gas. The car coasts (without the engine on) down the hill and then coasts
up the other side of the hill until it comes to rest. You may assume that air resistance and frictional
forces are negligible.

v = 50.0 km/h

4
(a) Calculate the initial kinetic energy of the car (express your answer in Joules). (§ marks)
. Lo .2 x 10°F
t 2

—

h 36005 e

K = 5(1250%)(50.0@ , Lh rooo«\>2

G = 121 % 10° ke s

K, = 1L20°T

6
(b) Calculate A, the highest point that the car reaches above the bottom of the hill. (& marks)
shie B Rl 149 e
KE } mer\“ +0 = QO+ M_f)lw (WN'— 0 b/ no ‘Fﬁ‘d\w)
kF:o blc cor comes
1o cest )

e o by

"3

s
he [AERT. . 4 Sy =

(1250LgY 9, Pom/s*)

END OF EXAMINATION
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Phys 115 — 2009 Alternative Midterm
Part A Answer Key:

Al
A2.
A3.
A4,
AS.
AG.
AT.
AS8.
AQ.
Al0.
All.
Al2.
Al3.
Al4.
Al5.

O 0O O 0O W >» W T o mMmow O T m
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Bl.

The broken lower leg in the diagram is held immobile (stationary) by the mass and pulley
system. The hanging mass is 1.55 kg. The femur bone in the upper leg exerts a force on the

lower leg in the horizontal direction. You may assume that the pulleys are ideal and that the
rope is massless.

lower \es 9

Free body diagram: _,
? T -1—’ x
[ - &
F3 (F3 r's focce
due Ho
{Li Stﬁ)ov‘*‘ fac
Wey 3 ¢ T P"“'.Y 3)
ru ‘7 L’\MS['nﬁ Mmars:
e

B A
= B
f 1
T
—
13,
(a) In the space to the right of the above diagram, draw a free body diagram of the forces acting on

the lower leg. Also show your choice of coordinate system. (4 marks)

(b) Calculate the magnitude of the weight of the lower leg. (3 marks)
Since Hie emdvre sys-l-om is ot rest

i E:O -E&r ‘Hrle | awrte |€S) Pu”erg ’S.JN
J
J\ %c hamaqu mass.

g s
sF:0 > T-W,=0 = T = Wy=(/.55k Y9 .fom/s)
lowe leg”  sF=0 = ny‘o and TE;=0 TeAnal
TR0 = T-W;= 0 = W= T (W)
Wy = W

Wy = (1.55kg X 9.80m/5?) =

(c) Calculate the magnitude of the force exerted by the femur on the lower leg. (3 marks)

SE.:0= -F+F =0 % f-F

BEER
b pulley 3, Th=0 = - F3+ Teosh + Teash = O

Fg = 27T cosd

EE = lT Cﬂf@

Fo= 2(/5.aN)cos (3007 =

continued on page 6...
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B2. A 400-N kangaroo, initially crouching at rest, exerts a constant force on the ground during the first
0.600 m of a vertical jump as it straightens its body with its feet in contact with the ground. After
the kangaroo’s feet leave the ground it rises an additional 1.80 m. You may ignore any effects due
to air resistance.

(a) Calculate the speed of the kangaroo just after it loses contact with the ground. Hint: After
losing contact with the ground the only force on the kangaroo is its weight. (3 marks)

i U] =0
Ay,
o @ o ® he bovn 15 in dree 8
ngeuzz = daby,
U;ez— 24Ay3: U_‘_.z

v, =,/ O-2ahy, :4_/:2(—-‘3.?0!“/5’1”'90‘“).

(b) Calculate the constant acceleration of the kangaroo while it is still in contact with the ground.

(3 marks)
\While n cactoct wnth  Hee jfowcl He
l(-'-W‘ﬁowo rises O.é.OOm_(-:- Dyr) 29.h4 m/s?

U,=0, U; = 594m/s frow @
Since '5.1 IS Lom*'o.-d[‘l com Use Same o_:}'m as m (a)-

Uit - G2 2a, Ay

2 £
a,: Y% (5':'94m/5‘? = (29.lrw)s?
2571 2 (0.600m)

(c) Calculate the magnitude of the force that the kangaroo exerts on the ground during the first
0.600 m of the vertical jump. (4 marks)

4_1 TE =

N—W = mMma,
Q}b N:ma\'+—\r~J
v

—
N — T me, +mMm
R = M

\TLP_ {:Brc.g Hook N = :%E 23( 29:4:«/52) + 1_,00“
Hhe ores evets ' -'“fs 3
zu%e grewd :Ie (N= loxioN

Seprd han , r
as “the ‘g)\’:& Hhek Hhe 3row\:{ exerts av He lkaweore (‘H\e nocroud Lo )

) continued on page 7...
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B3. A 225-kg crate is at rest on a ramp that is inclined above the horizontal at an angle of 20.0°.

(a) On the diagram above, draw all the forces acting on the crate and show your choice of
coordinate system. (Air resistance can be ignored.) (3 marks)

(b) Calculate the magnitude of the static frictional force of the ramp on the crate. (3 marks)

Crode (s of cest se 5:’{5—_0 754 N

fof 0
'F$x+ MX* wS(:O
ﬁs +0— Wsn =0
J;s'. W sin®
£ = mgsind = (225 g Y(9.80m/ 52X 51 20.07)
£ = 754N

(c) The crate is now bumped and it slides down the ramp. The coefficient of kinetic friction
between the crate and the ramp is 0.325, Calculate the magnitude of the acceleration of the
crate as it slides down the ramp. (4 marks)

Same ab_;‘aﬁrw as for (c:«)J bot now
b auwre 'e‘ rathes Ham P—;

i?j:: o Z,FV=O
Ny + & r Wy =0

0.359 m/s? l
(ma‘jni‘k_nlz)

ﬁ — Wsin§ = ma
K N:}-Q—Woosgzo

N = mjc_ﬂjg
%sl.ns amd .PLL‘:'}L&N :/u“ g 05D

'Pu = mjs,;\g = ma

a‘:

2=
!

o= /u“m‘j&sa__ 3srﬁ9 = /"ujc’“’sg' jsm@

a-= 3(/_1u cos® — 5-:.9)

a- ‘7.5'0m/52(0.32§m520.0°- ;,‘.\29.0")

k doven He r o
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B4. An asteroid of mass 1.65 x 10° kg has a speed of 2.50 km/s toward Mars when it is at a distance of
2,78 x 109_ m from Mars's surface. The mass of Mars is 6.42 x 10*° kg and its radius is
3.39 x 10° m.

(a) Calculate the gravitational potential energy of the asteroid due to Mars when it is at a distance
of 2.78 x 10° m from Mars’s surface. (Let the gravitational potential energy of the asteroid be
zero when the asteroid is infinitely far away from Mars.) (4 marks)

m —254 XEO‘ 54
o
@___’,w,_\___/
C

r 1
UE_- = GMMM“
G
- (6.6'?'—! X JO-“N.ME/M: Xé,.laxmz?kﬁXI.GSx 109&33
(2,?8)(!0‘}:“ + 3-3‘3&!0"&\)

u{"

(b) Calculate the speed of the asteroid just before it hits Mars’s surface. (6 marks)
; . W, = +
Kz"'ui + N kC u\c 5“ Ltm/s
wr\c: 0 lrof(c_ G’\’\.o\f 'PI'STLE (1 H'e

consery odhve (3(;&\;\"}'&‘}1'«.-,1& ‘\QW:A’,

L Lo ind
3007+ Uy = gt v Uy

2z
U% 4 mé(ui-*up)" Ug

G fore E(- o (Sl
-P ¢ m‘m r&' rM

Up= JU24 26m (L _
L

‘L) = 54§l x\O?N\/s
Y, C, I

END OF EXAMINATION



